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REPEATED IRDEPENDENT TRIALS AND A CLASS OF DICE PROBLEMS
Enwarn . Tuoxr, New Mexico State University

1. Introduction. This discussion was originally motivated by a class of dice
problems. They are illustrated by the following examples, which will be referced
to in the sequel.

Assume that two true dice are rolled repeatedly.

Problem 1. Find the probability that both the totals 5 and 9 appear hefore

a T appears.

Problem 2. Find the probability that both the totals 4 and 6 appear before
a 7 appears.

Problem 3. Find the probability that 4, 5, 6. 8, 9, 10 all appear before 7
appears.

Problem 4. Find the probability that all totals different from 7 appear belore
a 7 appears.

Problem 1 is intuitively quite simple when we observe that on any one trial
P(3)=P(9)=4/36 and P(7) =6/36, where P(T) is the probability that a total
of 1" oceurs on any given trial. We might argue loosely that the probahility that
cither a 5 or a 9 occurs before a 7 is 8/14. The probability that the other one
then occurs before a 7 is 4/10. The probability that both 5 and 9 appear before
7 is thus (8/14)(4/10) =&/35.

Problem 2 is surprisingly difficult by comparnison with problem 1. This is
due to the fact that P(4) =3/36=3/36=P(6). We give below the solution to a
general problem concerning repeated independent trials, of which problems 2, 3
and 4 are special cases which we will solve as illustrations. Finally we discuss
some useful approximations to the general solution

2. Formal solution of a class of problems. Consider a series of repeated in-
dependent trials with the outcomes of each trial being events in a given (fixed)
sample space. Let E;, - - -, En, B, be m+1 events with B disjoint from each of
the E,. What is the probability that all the events E; will occur before the event
B occurs?

Let A} (A5, - - -, AL, BY, respectively) be the event that E, (Es, - - -, Ea, B,
respectively) docs not cccur in the first ¢ trials. Let By, be the event * B occurs
on trial 4 + 1” and lat F.y be the event (A4iV - - - \U AL)B*B,,, ,where
=12, ... Let Fj=B5,. Thus F;is the event that B occurs for the first time
on trial £ and not all the E,, - - - , E, have vet occorred. Hereafter we refer wo
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F; as failure at the {th trial. The probability F(F) that B occurs before all the
E., which event we refer to as failure, is clearly D =, P{F:,1). The solution to
our problem is then 1—F(F).

Setting A{\ + + - UAdL =41, we see that

P(F;:.y) = P(A'B°B;yy) = P(ABY)P(B..1) = P(A‘B)P(B),

where the second equality follows because an event occurring on trial i+1 is
stochastically independent of all events, such as 4B, occurring on the first £
trials. It remains to calculate P(A4B7). For i= 1,

PaBY=P(U 4i8°) =T PAiBY - X PALALBY+---

=1 Eykygm

= E (P(AEIB']}‘ - E {P(J‘.‘A‘,BI}];'_F £ T
iy EyChasm

where the second equality follows from a well-known formula (see, eg. [1]
p. 89) and the third equality follows from the independence of trials.
The probability of eventual failure is given by

PE) = X P(Ew) = PBY 1 + T P4BY)
P .l ]

=PB{ ST PN - T T (PUnaB)+ -}

b et Ey<hin
1 1
2 o, S
{ ]{E‘ =Py s TP T }
1 i
= P(B HEEY. - At = Dot
i }{Z P(E,\J B) a,-uzﬁ- PIE.IUE...UB}+ }

The probability of eventual success is therefore

1 1
p{_g}_;ﬁm{_-_-z———+“-} when P(B) > 0.

v P(B) y P(E,\JB)
The third equality in the caleulation for P(F) follows, i.e., the sums can be taken
from i=0, because

M- X M+e-=1-0-1==1

by Eylggm

When F(B)=0, it can be shown that P(S)=1 if all P(E,)>0 and P(S)=0 if
some P(E,)=0.

Applying this to problem 2, we have P(F)=(6/36) | 36/9+36/11 —36/14}
=181/231 whence P(5), the probability of success, is 50/231. In problem 3 the
probability of success is .062164; the odds against are 15.09:1. In the solution
of problem 3, however, 2°—1=63 terms appear and, even after using the sym-
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metries in the problem (i.e., that P(3)=P(10), P(4) =F(9), P(5) =P(8)), some
24 terms need to be considered. In the solution to problem 4, 2'"—1=1023 terms
appear, but the form of the solution makes machine calculation quite easy. If
it is necessary to solve the problem by hand, however, then, despite symmetries,
210 terms need to be considered. Even though the solution reduces to an expres-
sion of the form ¥ 2%, pr./n, where the p, are integers, the calculation is tedious.
In the general case even these simplifications do not occur. Approximations to
the solution are desirable.

3. Numerical solutions to problems. For disjoint events it is possible to
show, by using an argument based on a tree diagram, that

P(S) = P(Ey) - - - P(E.) 2 1/{[P(B) + P(E.tp)] - - - [P(B) + P(Eaes) + - - -

+ P{Etin}}” ’

where the sum is over all permutations 5 of the integers from 1 to m.
When P(E) = - - - =P(Ea.)=%&/n and P(B) =b/n, it is fairly easy to verify
directly that the two forms for P{5) are identical. Since

we see that

k {m—l]k ik
E+ b (m—l}k%émk-i-b

iﬁ{?‘(ﬂ:)ﬂa*(”;)ula"”}
b{(ﬂ:)(%‘é:l-'ﬁ) _G) (%_zklﬂa)
s O d

Letting b/k =z, our verification reduces to

e =il 0
14 = (mul}-l—xm—i—z 14=x 2-1:';:_!_

When we compute the partial fractions expansion of the left side, we find
that it indeed coincides with the right hand expression. The direct verification
that the two forms for P(S) agree in the general case does not seem as easy.

We conjecture that, in the case of disjoint events, the inequalities

m!P{E,} . P(E.) "

[« + P(B)] - [ﬂw + H:B}] i [« + P(B)] - - - [mu+ P(B)] g
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are satisfied. We expected the alternate form for P(S5), given above, to be use-
fnl. We have been unable, however, either to prove or todisprove the conjecture.

The coajecture is true for m=1 (trivially) and for m =2 (where it reduces to
the fact that 4ab=(a+b)?). Also, when P{E)= . - - =P([.}, the two con-
jectured bounds coincide and the resulting number agrees with the alternate
form for F({S5). The conjecture holds for P(B) =0 or 1.

Using an electronic computer and the first form of the solution for P(S),
we solved problems 3 and 4. The results, shown in the Table, are again in agree-
ment with the conjecture.

TanLk 1 {(Computed by R. L. Souti;

True odds I odds
Prob-  pimy ‘s P(S) U to1 ik

o apainst 5 against §
1 0.7714 0.2286 0.22586 0.2286 3.375 3.315
2 0.7835 32143 0.2165 0.2256 3.620 3.375
3 0.9378 0.0599 0.0622 00682 15.085 13.663
3 0.9926 0.0054 0.0074 0.0222 134.133 44000
% 0.00474 0.00369 0.00526 0.01515 189.20 65000

Problem 3' is to find the probability that 2, 3, 5, 6, 8, 9, 11, 12 all appear be-
fore 7. Problems 3 and 4 first came to my attention from [2] page 665, where
they are solved incorrectly via UL
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